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=|class|Calculator| {

public:|
!nt xNum; ol 4
int yNum;

= int add() A
return xNum + yNum;
}
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Calculator cObj1; // Z4x| AA
-lclass Calculator { cObj1.xNum = 10;
public: cObj1.yNum = 20;
int xNum; _,—”"'
int yNum; cout << "xNum + yNum ————— > " << ¢cObj1.add() << endl;
= int add() {
return xNum + yNum; -"‘~s;
} Calculator cObj2; // ZHA MA

cObj2.xNum = 100;
cObj2.yNum = 200;

cout << "xNum + yNum ———- > " << cObj2.add() << endl;
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—Iclass BMICal {

public:
int getBmi(int h, int

return b = w,

i) A
mi 180, 50) ——=> 9000
> 9115.25

ROL5) -2

I
double getBmi(double

return h * w,

double w) {

»
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cgetBmi (180, B0} =< endl;
OC 1 tBmi{180.5, b0.5) << endl;

BMICal bct;
cout << "bcl.getBmi(180, 50) —=> " << bci
cout << "bcl.getBmi{180.5, B0.5) —— " <<



